B VCE & PDF https://lwww.geekcert.com/1z0-074.html
' 2024 Latest geekcert 1Z20-074 PDF and VCE dumps Download
: GeekCert.com

170-074°%As

Upgrade Oracle DBA 11g or 12c to 12¢c R2

Pass Oracle 1Z0-074 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1z0-074.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-074 Dumps | 120-074 PDF Dumps | 120-074 Practice Test 1/4


https://www.geekcert.com/1z0-074.html
https://www.geekcert.com/1z0-074.html
https://www.geekcert.com/1z0-074.html

VCE & PDF https://lwww.geekcert.com/1z0-074.html
2024 Latest geekcert 1Z20-074 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

You plan to execute this command:

CREATZ TABLE sales

(prod id NUMBER (3) ,
annual sale amt NUMBEER (10, 2},
country VARCHERZ (4),
channel VARBCHERZ (1)

]
BARTITION BY LIST (country, channel)
(PAETITION pl VALUES ((‘USAf, ‘D"), (‘CA', *D'}),

PARTITION p2 VALUES ((‘Usa'", ‘I'), (‘Cca', ‘I'"})

Which statement is true and why?

A. It creates partitions P1 and P2 where COUNTRY is a single column partition key and CHANNEL is a subpartition
key.

B. It returns an error because only one set of multiple values can be specified for each partition.

C. It returns an error because only a single column key can be used for a list-partitioned table.

D. It returns an error because the AUTOMATIC option must be specified.

E. It creates partitions P1 and P2 where COUNTRY and CHANNEL are multi-column partition keys.

Correct Answer: E

QUESTION 2

Which three statements are true about the SQL Performance Analyzer? (Choose three.)

A. It recommends the use of SQL Tuning Advisor for regressed SQL statements.

B. It recommends the creation of indexes for regressed SQL statements.

C. It compares and analyzes execution plans for the SQL statements in a SQL Tuning Set (STS).
D. It always executes triggers that are fired recursively in FULLDML mode.

E. It generates execution plans for each SQL statement in an STS.
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Correct Answer: ACE

Reference: https://docs.oracle.com/cd/B19306_01/server.102/e12024/spa.htm

QUESTION 3

In which four situations does the RMAN DUPLICATE command use the "pull" method? (Choose four.)
A. when the USING BACKUPSET clause is used

B. when the SET ENCRYPTION clause is added before the DUPLICATE command

C. when the SECTION SIZE clause is used

D. when the number of auxiliary channels allocated is less than the number of target channels allocated
E. when the USING COMPRESSED BACKUPSET clause is used

F. when no auxiliary channels are allocated

G. when IMAGE COPIES are used for the DUPLICATE operation

Correct Answer: ACDE

Reference: https://docs.oracle.com/database/121/BRADV/rcmdupdb.htm#BRADV299

QUESTION 4

Which three statements are true about the Automatic Database Diagnostic Monitor (ADDM)? (Choose three.)

A. It analyzes only those memory components of the database instance that are impacting performance.

B. It determines the segments on which waits are occurring when the database has a high number of buffer busy waits.
C. It analyzes the performance of the database instance based on the latest two AWR snhapshots.

D. It determines SQL statements that are performing poorly.

E. It recommends implementing SQL profiles to generate better execution plans.

F. It analyzes only the components and waits that are impacting database performance.

Correct Answer: BCD

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14211/diagnsis.htm#g41683

QUESTION 5
Which three types of database objects can have their columns stored in the In-Memory column store? (Choose three.)

A. heap tables with composite primary key constraints
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B. heap tables with dependent materialized views

C. clustered tables with dependent materialized views

D. index-organized tables stored in system-defined tablespaces
E. sys-owned objects stored in sysaux-defined tablespaces
Correct Answer: BDE

Reference: https://docs.oracle.com/en/database/oracle/oracle-database/12.2/inmem/populating-objects-
inmemory.htmi#GUID-C5F856BF-70E3-41C6-A1BA- 1E94D7D230B8
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